
A

B C D E H IF G

PRODUCT DIMENSIONS

Move 250mm

320mm[12.6″] 570mm[22.4″]

200mm[7.9″]

26mm[1.0″]305.8mm[12.0″]

200mm[7.9″]

20
0m

m
[7

.9
″]

φ6.5mm[φ0.3″]

56
2m

m
[2

2.
1″

]
55

0m
m

[2
1.

7″
]

φ8.2mm[φ0.3″]

COMPONENT CHECKLIST

Item Name QTY

A

Ø16XØ8.2X1.5 Washer

1
B 4Lag bolt 6x50mm

Main Mount Body

C 4Anchor Ø6x50mm

E 2
D 4

M4x8 Screw
F 2
G 2
H 1
I 2Velcro

M8 x 10mm Screw
M8 Sliding Nut
5mm Allen key

INSTALLATION GUIDE
AMS-SMS

1



INSTALLATION INSTRUCTION

1

2 -A

Pull out the panel

Portrait

C

F

G

x4(C)

Optional Installation

B

E

D

   5mm

2



-B 3

4 5

Attach the Velcro to the panel

Panel mounted on 
the main body

2 Landscape
(Optional Installation)

When Landscape install, 
tight this screw by hand 
to fix the panel to avoid 
slip down.

E

B D

I

3



-A6

-B6

auroramounts.com.au

Any content of this document or any artwork contained within this document should not be modified or reproduced without the written consent of Aurora Mounts.

Visit auroramounts.com.au for product and warranty information. Contact us at info@auroramounts.com.au for questions or comments.

4


